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Choose the correct answer.

Each question carries 1 mark.

1. Which of the following statement is correct ?
(A) DPD = OP-TP
(B) DPD = OP+WP
(C) DPD = WP-OP
(D) DPD = TP+OP
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(A) DPD = OP-TP
(B) DPD = OP+WP
(C) DPD = WP-OP
(D) DPD = TP+OP

2. The water potential of pure water is —
(A) Zero
(B) Less than zero
(C) More than zero, less than one

(D) More than one
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3. Stomatal opening is affected by —
(A) Nitrogen concentration, Carbon dioxide concentration & light
(B) Carbondioxide concentration, temperature & light
(C) Nitrogen concentration, light & temperature

(D) Nitrogen concentration, Carbon dioxide concentration & temperature
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4. If turgor pressure becomes equal to the wall pressure then,
(A) Water leaves the cell
(B) Water enters the cell
(C) No exchange of water takes place

(D) Solute goes from cell into water
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5. Name the first stable product in C, pathway
(A) PGA
(B) DHAP
(C) OAA
(D) PEP
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(A) PGA
(B) DHAP
(C) OAA
(D) PEP

6. is a gaseous plant hormone.
(A) IBA
(B) Ethylene
(C) ABA
(D) NAA
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(A) IBA
(B) Zfafer
(C) ABA
(D) NAA

7. This is the precursor of [AA —
(A) Methionine
(B) Tryptophan
(C) Glycine
(D) Isopentynyl pyrophosphate
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8. Which of the following hormone can replace vernalization ?
(A) Auxin
(B) Ethylene
(C) Gibberellin
(D) Cytokinins
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9. When the dark period of short-day plants is interrupted by brief exposure of light,
then the plant

(A) Produces more flowers
(B) Will not bear any flowers
(C) Turns into a long day plant

(D) Produces flowers immediately
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10. Which of the following pigment involved in red-far red light interconversion ?
(A) Cytochrome

(B) Lycopene
(C) Phytochrome
(D) Xanthophyll
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11. Name the coenzyme of riboflavin (B2) ?
(A) NAD or NADP
(B) FAD and FMN
(C) Coenzyme A
(D) Thiamine pyrophosphate
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12. Which of the following is a phospholipid ?
(A) Sterol
(B) Cholesterol
(C) Lecithin
(D) Steroid
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13. In glycolysis, cleavage of Fructose 1, 6-bisphosphate yields
(A) Two aldose sugars
(B) Two ketose sugars
(C) An aldose and a ketose sugar
(D) None of the above
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14. Which is a reducing sugar ?
(A) Galactose
(B) Gluconic acid
(C) Sucrose

(D) B-methyl galactosidase
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15. During symbiotic nitrogen fixation, how many molecules of ATP are required to fix
one molecule of nitrogen ?
(A) 8
B) 16
© 5

(D) 10
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16. Important enzymes involved in nitrogen fixation are —
(A) Nitrogenase and hydrogenase
(B) Nitrogenase and hexokinase
(C) Nitrogenase and peptidase

(D) Nitrogenase and hydrolyase
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1. Answer any one of the following questions : 9x1=9

(a) Discuss the ‘Z Scheme’ of light reaction in photosynthesis with diagram. Site
the difference between cyclic and non-cyclic photophosphorylation. 6+3

(b) Name two synthetic Auxin. Explain the important physiological role of
Gibberellin in seed germination by the synthesis of alpha amylase along with

the word diagram. 2+7
2. Answer any two of the following questions : 4x2=8
(a) Write a short note 242=4

(1) Red drop
(i) Emerson effect

(b) What do you mean by scotoactive stomata? Why C, plants are more efficient
in photosynthesis than C; plant ? 1+3

(c) What is Turgor pressure? In which case the value of DPD will be zero?
Compare between Osmotic pressure and Osmotic potential. 1+1+2

(d) What is florigen ? What is vernalin ? Write down its importance of
vernalization. 1+2



Group - B

3. Answer any one of the following questions : 9x1=9

(a) Define glycolysis ? Why Krebs cycle is also known as TCA cycle ? Describe
Krebs cycle with suitable word diagram mentioning relevant enzymes involved

in major steps. 1+1+7

(b) Write down the importance of pharmacognosy in modern science. 9

4. Answer any two of the following questions : 4x2=8
(a) What is Co-factor ? Write a short note on enzyme inhibition. 1+3

(b) What is Exergonic Reaction ? Write a short note on van der Waals’
interactions. 1+3

(c) Briefly define the following steps of nitrogen cycle along with suitable reactions
and examples : 2+2

(1) Nitrification
(i) Denitrification

(d) Write down the source, chemical nature and use of any one of the following :

(i) Quinin
(i) Catechin 1+1+2
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